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Chapter 2: The Solow Growth Model

Exercise 2.11. In some of the earlier prints of the manual, seven instances of the phrase
"capital-labor ratio" are missing from various places on pages 1 and 2. In case your copy has
this error, please note the following corrections.

� Page 1, immediately after Eq. (S2:1): "Let k (t) = K (t) =L (t) denote the ."
should be "Let k (t) = K (t) =L (t) denote the capital-labor ratio."

� Page 1, immediately before the �rst displayed equation after Eq. (S2:1):
"the evolution of the is given by" should be "the evolution of the capital-labor ratio
is given by".

� Page 1, immediately before Eq. (S2:2): "the unique positive steady state can
be solved as" should be "the unique positive steady state capital-labor ratio can be
solved as".

� Page 1, the third to last sentence of Part (a): "the converges to the unique
positive steady state level k�" should be "the capital-labor ratio converges to the
unique positive steady state level k�".

� Page 1, the last sentence of Part (a): "there is a unique steady state with
a positive despite the fact that" should be "there is a unique steady state with a
positive capital-labor ratio despite the fact that".

� Page 1, immediately before Eq. (S2:4): "the evolves according to" should be
"the capital-labor ratio evolves according to".

� Page 2, �rst full paragraph, third sentence: "the only steady state is k� = 0"
should be "the only steady state capital-labor ratio is k� = 0".
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